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SN ISR (SH) - HAS 01l &k o il ot o {imE=Eh
S 1,411,200 1,411,200
HII2Hel 1,400,000 1,400,000
HIIZXEelANE = 2(HII=2H™ 1,400,000 1,400,000

NEEST-E S
HIOI2HMelAld =H 2 1,400,000 1,400,000
402 QI2bRHE 1,400,000 1,400,000
01 Itk 1,400,000 1,400,000
O=8IXl 1,400,000
Hees(8Z2E51 11,200 11,200
SEXNE(HIISHALE F=H PR 11,200 11,200
BEXE(HIISH™l A 1PN 11,200 11,200
)
602 Gl Xl= 11,200 11,200
01 0ixl= 11,200 11,200
OulXI=3 11,200




A AR =X

Mo ol Y 28 =X 5T
Sl 0fHSXSE(GEETIIB) (B9 @)
SN B SR(BH) - NRAY - BES 0f - o e HRS2
Ab2] = X 1t 2,150,772 1,942,463 208,309
g & 25 SN 58 30,000 0 30,000
He=sAsd(HgedaIs) 30,000 0 30,000
HggdIlsAg =& 30,000 0 30,000

307 212t01d 30,000 0 30,000

02 2I2tHHE X 30,000 0 30,000
OndgdAY =& 30,000

MHees (At =X 2,120,772 1,937,463 183,309

SBENE(HASHAEEDIIS) 222,813 213,976 8,837

SHENE(NASHEAEEDIIS) 222,813 213,976 8,837

602 OIXl= 222,813 213,976 8,837

01 Oixl= 222,813 213,976 8,837
Oulxl= 222,813

BEXNE(LU=EXIIZ) 867,111 796,021 71,090

BHENE(U=R012) 867,111 796,021 71,090

602 OIlXl= 867,111 796,021 71,090

01 UXl= 867,111 796,021 71,090
Oulxl= 867,111

SHEXNE(HEEXIIZ) 636,637 598,925 37,712

SENE(HLEEXIIZ) 636,637 598,925 37,712

602 Ol XI= 636,637 598,925 37,712

01 UIXl= 636,637 598,925 37,712
Oulxl= 636,637

SEXNE(ZHL=XINS) 394,211 328,541 65,670

SHXNES(HHA=SXOIZ) 394,211 328,541 65,670

602 Ol XIS 394,21 328,541 65,670

01 OiIXl= 394,21 328,541 65,670
Ouxl= 394,21




S AZ=AA
3 WRES(AExAY)

ool BENE(MSAEIIZ) (2g®g)
SN I SRI(S) - NRAY - B 0fl b Soe B RS2

A=A 330,465 0 330,465
MRES(AZ=AAD) 330,465 0 330,465
BENE(HMSTEIS) 330,465 0 330,465
28X= 330,465 0 330,465
602 Ol Xl= 330,465 330,465
01 OlxI= 330,465 330,465
OulXI=3 330,465
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HE: WRES(SIMD)

ool BENE(SYLHIIZ) (S5l &2
_ B} _ SIEN
SN FHH S (3H) - HREAY - BES Ofl Ak 04 Sl ko HRs2

sZLE W 2,107,393 1,993,412 113,981
Hees(sZagn) 2,107,393 1,993,412 113,981
BENE(sSLHIIS) 2,107,393 1,993,412 113,981
RSN 2,107,393 1,993,412 113,981
602 Ol Xl= 2,107,393 1,993,412 113,981
01 OlxI= 2,107,393 1,993,412 113,981

Oulxi= 2,107,393
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SN I E(EN) - NEAY - B8 shoy e =
M et2te| ot ,541,288 1,397,708 143,580
ol & T o 200,000 200,000 0
THEE - THOH Ol (i 2teld1=2) 200,000 200,000
Mer2edls 28 200,000 200,000 0
206 =4l 50,000 50,000 0
01 W=H 50,000 50,000 0
OMolitH =5+ & 50,000
401 AlIEHIZ R0 150,000 150,000 0
01 Al£HI 150,000 150,000 0
Ol AHETHHI S35+ & ISAEE § 150,000
MR e s (Mt2e o) ,341,288 1,197,708 143,580
SBEXS(MH2eI2) ,341,288 1,197,708 143,580
RSP ES ,341,288 1,197,708 143,580
602 Ol Xl= ,341,288 1,197,708 143,580
01 MIxl= ,341,288 1,197,708 143,580

OulXl=

,341,288
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Ao S2(B1) - HSAY - B2 Abol e =2
100,000 100,000
IS (A=) 100,000 100,000
NE(2AZDHHIII2) 100,000 100,000
HANE(2AZDSEHHIII2) 100,000 100,000
602 Ol XI2 100,000 100,000
01 MXIZ 100,000 100,000

OWXx =2 100,000




